USA Tel: 800.435.0786 Canada Tel: 800.435.0786 International Tel: +1.815.397.7070 -
Fax: 800.451.2632 Fax: 800.524.2853 Fax: +1.815.397.9247 =
)
3
KNOCKOUT PARTS CABINETS =
=3
Knockout Punch Parts Assortment Cabinets =
¢ Includes balanced stock of replacement parts in sturdy steel cabinets.
CAT.NO. UPCNO. DESCRIPTION
m 7360SB 34358 Knockout Punch Parts Assortment 1/2" - 2. Includes metal cabi-
net 14" high, 13" wide and 14-3/4" deep, with 4 drawers.
7361SB 34359 Knockout Punch Parts Assortment 1/2" - 3". Includes metal cabi-
m net 19-1/2" high, 27" wide and 15" deep with 4 drawers.
7361SB/34359 PARTS CABINET INCLUDES
736058 CAT.NO.  UPCNO.  DESCRIPTION ary.
721-1/2 31756 Slug-Buster® 1/2" Conduit Punch 18
14722 14722 1/2" Conduit Die 12
721-3/4 31757 Slug-Buster® 3/4" Conduit Punch 6
124AV 06972 3/4" Conduit Die 6
" ' 721-1 31758 Slug-Buster® 1" Conduit Punch 6
126AV 04011 1" Conduit Die 6
— 1 E— 721-1-1/4 31759 Slug-Buster® 1-1/4" Conduit Punch 6
128AV 04013 1-1/4" Conduit Die 6
721-1-1/2 31760 Slug-Buster® 1-1/2" Conduit Punch 3
440AV 04061 1-1/2" Conduit Die 3
721-2 31761 Slug-Buster® 2" Conduit Punch 3
4420V 04063 2" Conduit Die 2
1429AV 04175 2-1/2" Conduit Punch 1
1430AV 04177 2-1/2" Conduit Die 1
T L E— 1431AV 04180 3" Conduit Punch 1
1432AV 04183 3" Conduit Die 1
s 00042 00042 3/8" Draw Stud 12
249AVBB 04040 3/4" Drive Screw 8
7360SB/34358 PARTS CABINET INCLUDES Ee 04042 3/4" Drive Screw 6
CAT.NO. _ UPCNO. DESCRIPTION . 1434AV 04188 1" x 3/4" Drive Screw 1
721-1/2 31756 Slug-Buster®1/2" Conduit Punch 18 (&= Sl 04137 1" Ball Bearing Nut !
14722 14722 1/2" Conduit Die 12 1282 12097 3/8" Adapter Screw 6
721-3/4 31757 Slug-Buster® 3/4" ConduitPunch 6 Sy 80227 716" Adapter Screw 2
124AV 06972 3/4" Conduit Die 6 12098 12098 3/4" Adapter Screw 2
791-1 31758 Slug-Buster® 1" Conduit Punch 3 12099 12099 3/4" Ball Bearing Adapter Screw 1
126AV 04011 1" Conduit Die 3 1614SS 30043 3/8" Stainless Steel Adapter 20 =
721-1-1/4 31759 Slug-Buster® 1-1/4" Conduit Punch 3 2113AA 03294 3/4" Piston Shaft 6 é
1988 04013 1-1/4" Conduit Die 3 1557AA 03170 1-1/8" Thread Sleeve 1 E
721-1-1/2 31760  Slug-Buster® 1-1/2" Conduit Punch 2 3037AV 04686 3-1/2", 4" & 5" Conduit Bushing 1 %
440AV 04061 1-1/2" Conduit Die 2 1924AA 03248 Short Spacer 3 5
721-2 31761 Slug-Buster® 2" Conduit Punch 2 1925AA 03249 Medium Spacer 3 =
4420V 04063 2" Conduit Die 1 1926AA 06904 Long Spacer 3
00042 00042 3/8" Draw Stud 12 15908 15908 Spacer Unit 1
249AVBB 04040  3/4" Drive Screw 4 28154 28154 Punch 1/2" HD Slug-Splitter® 1
304AVBB 04042  3/4" Drive Screw 4 28155 28155 Die 1/2" HD Slug-Splitter® 1
12097 12097 3/8" Adapter Screw 4 29451 29451 Draw Stud, 7/16" Stainless Steel 1
12098 12098 3/4" Adapter Screw 2 31834 31834 Cabinet A only (top) 1
16148S 30043  3/8" Stainless Steel Adapter 20 31849 31849 Cabinet B only (bottom) 1
2113AA 03294  3/4" Piston Shaft 4

31832 31832 Cabinet only 1 29



= USA Tel: 800.435.0786 Canada Tel: 800.435.0786 International Tel: +1.815.397.7070
= Fax: 800.451.2632 Fax: 800.524.2853 Fax: +1.815.397.9247
-
(4+)
qE, Standard Round Knockout Punches
S
I PUNCH UNIT REPLACEMENT PARTS
—
PUNCH KIT-INCLUDES HOLE SIZE CAPACITY REPLACEMENT REPLACEMENT
PUNCH, DIE & DRAW STUD | CONDUIT & ACTUAL MILD STEEL| WEIGHT |REPLACEMENT PUNCH|REPLACEMENT DIE DRAW STUD BALL BEARING NUT
CAT. NO. UPC NO.| PIPE SIZE 0 INCH @ mm| PG |ISO| GA. | mm [LBS.| g CAT. NO. | UPC NO. | CAT. NO. [UPC NO.| CAT.NO. [UPC NO., CAT.NO. | UPC NO.
730-1/2 02408 — 1/2 [0.500( 127 |7 [—]| 16 [ 15| .1 46 | 1760AV | 06996 | 1759AV | 04235 | 1675AV | 04218 — —
730-9/16 02433 — 9/16 [ 0.563| 143 |—|—| 16 | 1.5 ]| .1 46 | 1754AV | 04230 | 1753AV | 04229 | 1675AV | 04218 — —
21115 21115 — — 0598|152 |9 |—| 14|20 | .3 | 137 | 21316 21316 | 32002 | 32002 | 00042 | 00042 — —
730-5/8 02409 — 5/8 [0.625] 159 |—|—| 16 | 1.5 | .2 | 91 | 1742AV | 04223 | 1743AV | 04224 | 1675AV | 04218 — —
35192 35192 — — 10.638|16.2 |— (16| 14 | 20| .3 | 137 | 35193 | 35193 | 35162 | 35162 | 00042 | 00042 — —
730BB-11/16 | 25340 — 11/16]0.688| 175 |—|—| 14 | 2.0 | .3 | 137 | 1752AV | 04228 | 1751AV | 04227 | 00042 | 00042 — —
730EBB-18.6 | 18886 — — |0.732| 186 [11|—| 14 | 20| .3 | 137 | 17700 | 17700 | 32003 | 32003 | 00042 | 00042 — —
730BB-3/4 20667 — 3/4 10.750 191 |—|—| 14 | 2.0 | .3 | 137 | 113AV 03998 | 114AV | 03999 | 00042 | 00042 — —
730EBB - 20.4| 18887 — — 10.803| 204 |13(20| 14 | 20| .3 | 137 | 17697 17697 | 32004 | 32004 | 00042 | 00042 — —
730BB-13/16| 20668 — 13/16]0.812| 20.6 |—|—| 14 | 2.0 | .3 | 137 | 1745AV | 04226 | 1744AV | 04225 | 00042 | 00042 — —
71BB 22563 1/2" 7/8 10.885| 225(16|—| 10 | 3.5| .4 | 182 | 121AV | 04006 | 14722 | 14722 | 00042 | 00042 — —
730BB-15/16| 25341 — 15/16(0.937| 23.8|—|—| 14 | 2.0 | .5 | 227 | 1762AV | 04238 | 1761AV | 04237 | 00042 | 00042 — —
730BB-1 20670 — 1 |[1.000| 25.4|—|25| 14 |2.0| .5 | 227 | 87AV | 03986 | 35164 | 35164 | 00042 | 00042 — —
730BB-1-1/16 25342 — 1-1/16{1.063| 27.0 |—|—| 14 | 2.0 | .5 | 227 | 1763AV | 04240 | 1764AV | 04242 | 00042 | 00042 — —
72BB 22564 | 3/4" — [1.115] 28.3 |21 |—]| 10 [ 3.5 | .9 | 409 | 123AV | 04008 | 124AV | 06972 |249AVBB| 04040 — —
36910 36910 3/4" — [1.115] 283 |21|—]| 14 | 2.0 | .6 | 273 | 36882 | 36882 | 32006 | 32006 | 00042 | 00042 — —
730BB-1-1/8 | 20671 — 1-1/8|1.125| 286 |—|—| 14 [ 2.0 | .6 | 273 | 91AV | 03990 | 92AV |[03991 | 00042 | 00042 — —
36506 36506 — 1-7/32/1.210| 30.5|—|—| 16 | 1.5 | .6 | 273 | 36282 | 36282 | 36279 | 36279 | 00042 | 00042 — —
730BB-1-1/4 | 20673 — 1-1/411.250| 31.8|—|—[ 16 | 1.5 .7 | 318 | 117AV | 04002 | 118AV | 04003 | 00042 | 00042 — —
24476 24476 — — 11.280| 325 |—|[32| 10 [ 3.5 | 1 | 454 | 24459 | 24459 | 35168 | 35168 |249AVBB| 04040 — —
730BB-1-5/16| 25344 — 1-5/16|1.313| 33.4 |[—|—| 16 [ 1.5 | .7 | 318 | 1747AV | 06587 | 1746AV | 06586 | 00042 | 00042 — —
73BB 22565 1" — 11.362| 346 |—|—]| 10 [ 3.5|1.1| 499 | 125AV | 04010 | 126AV | 04011 |249AVBB| 04040 — —
730BB-1-3/8 | 25427 — 1-3/811.375| 349 |—|—| 10 | 3.5 [ 1.1 | 499 | 3205AV | 04734 | 3206AV | 04735 | 249AVBB | 04040 — —
730EBB-37 18890 — — |1.457| 370 29|—| 10 [ 3.5 | 1 | 454 | 18331 18331 | 32008 | 32008 | 249AVBB | 04040 — —
730BB-1-1/2 | 25428 — 1-1/211.500( 38.1 |—|—| 10 | 3.5 |1.2| 545 | 3207AV | 04736 | 3208AV | 07044 |249AVBB| 04040 — —
24477 24477 — — [1.595| 40.5|— 40| 10 | 3.5 (1.3 | 590 | 24462 24462 | 35159 | 35159 | 249AVBB| 04040 — —
730BB-1-5/8 | 25349 — 1-5/8 11.625| 41.3 |—|—| 10 | 3.5 [ 1.4| 636 | 1794AV | 04251 | 1793AV | 04250 | 249AVBB | 04040 — —
74BB 22566 | 1-1/4" 1-11/16 1.701| 432 |—|—| 10 | 3.5 [1.4| 636 | 127AV | 06974 | 128AV | 04013 | 249AVBB| 04040 — —
730BB-1-3/4 | 25350 — 1-3/4|11.750| 445 |—|—| 10 | 3.5 [1.5| 681 | 1816AV | 04257 | 1815AV | 04256 | 249AVBB | 04040 — —
730EBB-47 18891 — — 11.850| 47.0|—|—| 10 | 3.5 (1.7| 772 | 17687 | 17687 | 32009 | 32009 |304AVBB| 04042 — —
730BB-1-7/8 | 25351 — 1-7/811.875| 476 |—|—| 10 | 3.5 (1.9| 862 | 1791AV | 04248 | 1792AV | 04249 |304AVBB| 04042 — —
75BB 22567 | 1-1/2" |1-15/16§ 1.951| 496 |—|—| 10 | 3.5 | 2 | 908 | 439AV 06978 | 440AV | 04061 | 304AVBB| 04042 — —
730BB-2 20676 — 2 |2.000| 50.8|—|50( 10 | 3.5 (1.9 862 | 1756AV | 04232 | 35161 | 35161 |304AVBB| 04042 — —
730BB-2-1/8 | 20678 — 2-1/8 | 2.125| 54.0 [42|—| 10 | 3.5 2.2 | 998 | 1783AV | 04245 | 36173 | 36173 | 304AVBB | 04042 — —
730BB-2-1/4 | 25360 — 2-1/412.250| 57.2 |—|—| 10 | 3.5 |2.6|1180| 437AV | 04058 | 438AV | 04059 |304AVBB | 04042 — —
g 730EBB-60 18892 — — 12.362| 60.0 |48|—| 10 | 3.5 (2.6|1180| 17690 17690 | 32011 | 32011 | 304AVBB| 04042 — —
] 76BB 22568 2" 2-3/812.416| 61.5|—|—| 10 | 3.5 | 3 |1361| 441AV | 04062 | 442AV | 04063 |304AVBB| 04042 — —
i":’ 730BB-2-1/2 | 20679 — 2-1/212.500| 63.5|—|63| 10 | 3.5 | 3 [1361| 1758AV | 04234 | 1757AV | 04233 [304AVBB| 04042 — —
§ 730PBB-2-5/8| 21214 — 2-5/8 | 2.625| 66.7 |—|—| 10 | 3.5 | 5.1|2314| 1795AV | 04252 | 1796AV | 06997 | 1434AV | 04188 | 1433AVBB| 04187
5, 730BB-2-3/4 | 25361 — 2-3/412.750| 69.9 |—|—| 10 | 3.5 | 4.8|2178| 1790AV | 04247 | 1789AV | 04246 | 1434AV | 04188 | 1433AVBB| 04187
= 730MBB 25383 — — 2781|706 |—|—| 10 | 3.5 | 3.8|1724|730101A| 02445 |730100A| 02443 | 304AVBB | 04042 — —
§ 738BB 19975 | 2-1/2" | 2-7/8 |2.914| 740 |—|—| 10 | 3.5 | 5 |2268| 1429AV | 04175 | 1430AV | 04177 | 1434AV | 04188 | 1433AVBB| 04187
730BB-3 25372 — 3 3.000| 76.2 |—|—| 10 | 3.5 | 6.1 2767 | 1821AV | 04259 | 1820AV | 04258 | 1434AV | 04188 | 1433AVBB| 04187
730TBB 25403 — 3-1/8|3.125| 794 |—|—| 10 | 3.5 | 6 |2722| 1798AV | 06363 | 1797AV | 06362 | 1434AV | 04188 | 1433AVBB| 04187
730EBB-82 18635 — — 13.228| 820 |—|—]| 10 | 3.5 |6.3|2858| 18905 18905 | 18906 | 18906 | 1434AV | 04188 | 1433AVBB| 04187
739BB 19976 3" 3-1/213.539| 89.9 |—|—| 10 | 3.5 [5.9|2677| 1431AV | 04180 | 1432AV | 04183 | 1434AV | 04188 | 1433AVBB| 04187
730PBB-3-3/4| 21216 — 3-3/4 [3.750| 95.3 | —|—| 10 | 3.5 | 7.7 | 3493 | 4640AV | 05265 | 4641AV | 05266 | 1434AV | 04188 | 1433AVBB| 04187
741BB* 19977 | 3-1/2" 4 4.0441102.7|—|—| 10 | 3.5 | 10 | 4536 | 2982AV | 04653 | 2981AV | 04652 | 3026AV | 04679 | 3036AVBB | 04685
742BB* 19978 4" 4-1/2 | 4544 |115.4| —|—| 10 | 3.5 |11.4| 5172| 2984AV | 04655 | 2983AV | 04654 | 3026AV | 04679 | 3036AVBB| 04685
730EBB-120* | 21519 — — [ 4.724{120.0|—|—| 10 | 3.5 | 13 | 5897 | 21489 21489 | 21491 | 21491 | 3026AV | 04679 | 3036AVBB| 04685
743BB* 19980 5" 5-5/8 | 5.675[1441|—|—| 10 | 3.5 | 19 | 8619 | 5135AV | 05447 | 5136AV | 05448 | 3026AV | 04679 | 3036AVBB| 04685

16 )) *CAT.NO. _ UPCNO. _ DESCRIPTION
@ 3037AV 04686 Replacement Bushing for 3-1/2" (conduit hole size) and larger punches with manual operation



